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Instructions:
1. Clearly write your nare, student sumber, and instructor name in the space above.
2. There are 21 problems 11 § pagss, each worth 2 points.
3. Please work each problem in the space provided. Show all calculations and display
answers clearly. Unjustified znzwers will receive no credit
4. You can use vour ow? caieiiator only.

5. Please be sure to trm your ceil phone off.




1 -/Z)The demand for a product varies from manth to month. Based on the past
year's data, the following probability distribution shows ABC Company’s monthly

demand.
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& Determine the expected number of units demafided per month.

Eco= 2 x by - i?_;'&“’@

Each unit produced costs the company $8, and is sold for $10. How much will
the company gain or lose in a month if they stock(w3%) the expecfed number of

nmirs denanded but sell( 2000[un1ts'7 Pdettpr®
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3. A'population of CIO 0.has a mean of 300 and a standard deviaticn of 20, A sample
of 10 fobservcxtmns will be taken. Find the w@ of the s ampie raean.
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(4 « B1{he lenoth of time patients must waJE to see a doctor in a loca
rhsmb ted between 20 minutes and 2.5 hour ST N
. Write and graph the probability density funruon

What is the probability that a patlen would have to wait betw.een 4 5 mirutes to 2 2 <P
hours?
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«6. Compute the probability that a patient would have to wait over 2 hours.
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8. Find and inferpret 2‘3\r for this distribution.
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) (9 -11)A life insyrance company has determined that each week a
clamskw’uman) is filed in its Ramallah branch. At
9. Find the probability that more than 2 clairos filed in a wcek
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11 Quppose that the company accepts all claims , and the average cost of each claim
- 1551000, what is the ex peclu& average cost in & year ,gwwn
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12 - 14)The student body of BZU consists of @female students. ﬁ m

12. A random sampl- of § students is sele*cted What is the probability that amofig the

students in the sample at least 7 are femnale? X = B (%, L ) —2 Vwm‘\q;
2 P(x>7) = FG"J”*' FC3) & *
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13. A random sample of 10 students is selectei What is the probability that among
the students in the qample at least 7 are male?
i X;I@(’Dr@"‘tf)

Plx =)

)

= G)ﬁ\?@& 30 4§

SN Lesl +@eef
(:_‘g.) [;-(. 5+&@[D(6~;TLD‘541+ ‘ooslot] 9-—@5

r A random sample of 120 stum is selected. What is the approximated
probability that amorg the students ix the sample at least 80 are fernale?
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(15 - 16)The time it takes a worker on aa ggsembly line to comnplete a task is
ponentially distributed with 2 mean of  fiinutes.
5 What is %e probability density function for the time it takes to complete the task?

Graph the function.

T = L e 5 e

-h/ What is the probability that it will take a worker bstween § and 10 minutes to
complete the task? = é (o
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(17 — 19)ABC Corporation gives each of its employees an aptitude test. The scores
on the test are normally distributed with a mean of _,Zs S5 and a standard deviation of 15
A 51mple random sample of 25 is taken from a populatlon of 500. A/

JF7hat are the w the standard déviation, and the ha e of the
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between 7 0 and 89 ?
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J9. Find a value, C, such that P(x > () =.015.
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ZQ’T he dzqtnbui{on of scores for a paruculgrk exam follows a normal distribution with
mean of. 20 and standard df:Vlatmn of 6 6 I you got a score 0‘1"’85 i iﬁl& ciass at,

“what percentile is your score
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21. (Bonus)The distribution of scores for a particular exam follows a normal
distribution with mean of 70"and standard deviation of 4; Assuming that the top
10% of students get an A, tu next LO% aB, nd SO o1 If got an 80 in thm cldss

what grate did you gei?
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